
Dear Family,

During the next few weeks, our math
class will be learning about division
facts and strategies.
We will learn strategies to use to
divide by 2, 3, 4, 5, 6, 7, 8, 9, 10, 11,
and 12.
You can expect to see homework that
provides practice with dividing by
these divisors.

Vocabulary 

Array: An arrangement of
objects in rows and
columns.
Dividend: The number that
is to be divided in a division
problem.
Divisor: The number that
divides the dividend.
Related facts: A set of
related multiplication and
division equations.
Quotient: The number, not
including the remainder,
that results from division.

Homework due date: Sunday, Jan.  26th (Upload HW on Archie)
Chapter 8 Test: Tuesday, Jan. 21st
Chapter 9 Test: Monday, Jan. 27th (This week’s homework is practice
for the test)
Feel free to contact me with any questions at
diana.charaf@archimedean.org

Chapter 9: Division Facts and Strategies

Complete homework daily based on the schedule provided
below:

Monday 01/20                                 No HW
     Tuesday 01/21                     pages: 443, 425 

      Wednesday 01/22              pages: 445, 446  
   Thursday 01/23                   pages: 447, 448

       Friday 01/24                       pages: 449, 450
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� 3-� Bhqbkd�‘�mtladq�enq�sgd�tmjmnvm�e‘bsnq�‘mc�ptnshdms�sg‘s�l‘jdr�
sgd�dpt‘shnm�sqtd-
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� 4-� Lqr-�V‘ksdqr�g‘r�2/�l‘qjdqr-�Rgd�fhudr�d‘bg�rstcdms��
0/�l‘qjdqr-�Gnv�l‘mx�rstcdmsr�qdbdhud�sgd�l‘qjdqr>�Trd�
qdod‘sdc�rtasq‘bshnm�sn�rnkud�sgd�oqnakdl-�Rgnv�xntq�vnqj-

� �

� � Vqhsd�‘ chuhrhnm�dpt‘shnm�sn�qdoqdrdms�sgd�qdod‘sdc�rtasq‘bshnm-
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� 5-� Bnlokdsd�sgd�bg‘qs�sn�rgnv�sgd�ptnshdmsr-

. 16 25 34 43
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� 6-� Enq�Oqnakdlr�6‘›6d+�rdkdbs�Sqtd�nq�E‘krd�enq��
d‘bg�dpt‘shnm-

6‘-� 01�)�5�–�1� � Sqtd� � E‘krd

6a-� 13�)�5�–�2� � Sqtd� � E‘krd

�6b-� 2/�)�5�–�5� � Sqtd� � E‘krd

6c-� 31�)�5�–�6� � Sqtd� � E‘krd

6d-� 37�)�5�–�7� � Sqtd� � E‘krd
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� 7-� Enq�Oqnakdlr�7‘,7e+�ehmc�sgd�lhrrhmf�e‘bsnq�‘mc�sgd�ptnshdms-

� � 7Y,�01�=�^�–�033� 033�)�01�–�^

� � 7a,�00�=�^�–�021� 021�)�00�–�^�

� � 7b,�00�=�^�–�77� 77�)�00�–�^

� � 7c,�2�=�^�–�10� 10�)�2�–�^�

� � 7d,�2�=�^�–�07� 07�)�2�–�^�

� � 7e,��7�=�^�–�53� 53�)�7�–�^�

� 8-� Jdhsg�‘qq‘mfdc�3/�snx�b‘qr�hm�7�dpt‘k�qnvr-�Gnv�l‘mx�snx�b‘qr�‘qd�
hm�d‘bg�qnv>�

^^�snx�b‘qr

�0/-� Adkk‘�l‘cd�#10�rdkkhmf�2�aq‘bdkdsr-�Rgd�rnkc�d‘bg�aq‘bdkds�enq�
sgd�r‘ld�oqhbd-�Trd�sgd�mtladq�khmd�sn�cdbhcd�gnv�ltbg�d‘bg�
aq‘bdkds�bnrs-�Rgnv�xntq�vnqj-

� � 5 8 01 03 06 102�

� � Nmd�aq‘bdkds�bnrs�^^-

�00-� Sgdqd�‘qd�13�bghkcqdm�rd‘sdc�‘s�5�ohbmhb�s‘akdr-�Sgd�r‘ld�mtladq�
ne�bghkcqdm�‘qd�‘s�d‘bg�s‘akd-�Gnv�l‘mx�bghkcqdm�‘qd�‘s�d‘bg�s‘akd>�
Cq‘v�‘m�‘qq‘x�sn�ehmc�nts-�Sgdm�vqhsd�sgd�‘mrvdq-



³
�G

nt
fg

sn
m�

L
hee

khm
�G

‘q
bn

tq
s�O

ta
khr

gh
mf

�B
nl

o‘
mx
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01-� Ehmm�antfgs�4�o‘bjr�ne�rshbjdqr-�D‘bg�o‘bj�g‘c�sgd�r‘ld�mtladq�
ne�rshbjdqr-�Gd�g‘r�44�rshbjdqr�hm�‘kk-�Gnv�l‘mx�rshbjdqr�vdqd�hm�
d‘bg�o‘bj>�Dwok‘hm�gnv�xnt�rnkudc�sgd�oqnakdl-

02-� @m‘�trdc�38�rsq‘vadqqhdr�sn�l‘jd�6�rsq‘vadqqx�rlnnsghdr-�Rgd�
trdc�sgd�r‘ld�mtladq�ne�rsq‘vadqqhdr�hm�d‘bg�rlnnsghd-�Gnv�
l‘mx�rsq‘vadqqhdr�chc�@m‘�trd�hm�d‘bg�rlnnsghd>

^^�rsq‘vadqqhdr

03-� Enq�Oqnakdlr�03‘›03d+�rdkdbs�Sqtd�nq�E‘krd�enq�d‘bg�dpt‘shnm-

03‘-� 61�)01�–�5� Sqtd� E‘krd

03a-� 021�)�01�–�02� Sqtd� E‘krd

�03b � 85�)�01�–�7� Sqtd� E‘krd

03c-� 033�)�01�–�01� Sqtd� E‘krd

03d-� 73�)�01�–�8� Sqtd� E‘krd

04-� @�eknvdq�rgno�rdkkr�c‘eenchkr�hm�atmbgdr�ne�8�c‘eenchkr-�Sgd�rgno�
rdkkr�16�c‘eenchkr-�Gnv�l‘mx�atmbgdr�ne�c‘eenchkr�cndr�sgd�rgno�
rdkk>

^^�atmbgdr
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�05-� @uhu‘�rs‘qsdc�‘�s‘akd�rgnvhmf�‘�chuhrhnm�o‘ssdqm-

. 1/ 2/ 3/ 4/

0/

4

� � O‘qs�@

� � Bnlokdsd�sgd�s‘akd-

� � Bnlo‘qd�sgd�ptnshdmsr�vgdm�chuhchmf�ax�0/�‘mc��
vgdm�chuhchmf�ax�4-�Cdrbqhad�‘�o‘ssdqm�xnt�rdd�hm��
sgd�ptnshdmsr-

�

� � O‘qs�A�

� � Ehmc�sgd�ptnshdms+�S-

� � 6/�)�0/�–�S

� �� S�–�^^

� � Dwok‘hm�gnv�xnt�bntkc�trd�sgd�u‘ktd�ne�S�sn�ehmc�sgd�u‘ktd�ne�m>�
Ehmc�sgd�u‘ktd�ne�m-

� � 6/�)�4�–�m

� � m�–�^^

�

�06-� Ldjgh�mddcr�1�nq‘mfdr�sn�l‘jd�‘�fk‘rr�ne�nq‘mfd�ithbd-�He�nq‘mfdr�
bnld�hm�a‘fr�ne�0/+�gnv�l‘mx�fk‘rrdr�ne�nq‘mfd�ithbd�b‘m�gd�l‘jd�
trhmf�nmd�a‘f�ne�nq‘mfdr>

� ^^�fk‘rrdr
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07-� Enq�Oqnakdlr�07‘›07d+�rdkdbs�Sqtd�nq�E‘krd�enq��
d‘bg�dpt‘shnm-

07‘-� ���/�)�8�–�/� � Sqtd� � E‘krd

07a-� ���8�)�8�–�0� � Sqtd� � E‘krd

�07b-� �16�)�8�–�3� � Sqtd� � E‘krd

07c-� 43�)�8�–�5� � Sqtd� � E‘krd

07d-� 8/�)�8�–�8� � Sqtd� � E‘krd

08-� Cnk‘�hr�l‘jhmf�fhes�a‘rjdsr�enq�3 eqhdmcr-�Rgd�g‘r05�oqhydr�rgd�
v‘msr�sn�chuhcd�dpt‘kkx�‘lnmf�sgd�a‘rjdsr-�Gnv�l‘mx�oqhydr�
rgntkc�rgd�ots�hm�d‘bg�a‘rjds>

^^�oqhydr

1/-� @khbh‘�hr�atxhmf�‘�ods�q‘aahs-�Rgd�mddcr�sn�atx�hsdlr�enq�gdq�q‘aahs�
‘s�sgd�ods�rsnqd-

O‘qs�@

@khbh‘�atxr�‘�b‘fd�‘mc�1�anvkr�enq�#43-�Sgd�b‘fd�bnrsr�#2/-�D‘bg�
anvk�bnrsr�sgd�r‘ld�‘lntms-�Vg‘s�hr�sgd�oqhbd�ne�0�anvk>�Dwok‘hm�
sgd�rsdor�xnt�trdc�sn�rnkud�sgd�oqnakdl-

O‘qs�A

@khbh‘�‘krn�atxr�01�snxr�enq�#5/-�Sgd�snxr�‘kk�bnrs�sgd�r‘ld�‘lntms-�
Vg‘s�v‘r�sgd�oqhbd�ne�d‘bg�snx>

D‘bg�snx�bnrsr�#^^-


